## STRONG CONVERGENCE OF HYBRID PROJECTION METHODS FOR QUASI- $\phi$ -NONEXPANSIVE MAPPINGS

Shin Min Kang\*, Jungsoo Rhee\*\* and Young Chel Kwun\*\*\*

ABSTRACT. In this paper, we consider the convergence of the shrinking projection method for quasi- $\phi$ -nonexpansive mappings. Strong convergence theorems are established in a uniformly smooth and strictly convex Banach space which enjoys the Kadec-Klee property.

## 1. Introduction and preliminaries

Let E be a real Banach space and let C be a nonempty subset of E. Let  $T : C \to C$  be a nonlinear mapping. A point  $x \in C$  is a *fixed point* of T provided Tx = x. In this paper, we use F(T) to denote the fixed point set of T and use  $\to$  and  $\to$  to denote the strong convergence and weak convergence, respectively.

Recall that T is said to be *nonexpansive* if  $||Tx - Ty|| \le ||x - y||$  for all  $x, y \in C$ .

Recall that the normal Mann iterative process was introduced by Mann [8] in 1953. Since then, construction of fixed points for nonexpansive mappings via the normal Mann's iterative process has been extensively investigated by many authors. The normal Mann's iterative process generates a sequence  $\{x_n\}$  in the following manner:

(1.1) 
$$\forall x_1 \in C, \quad x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n, \quad \forall n \ge 1,$$

where the sequence  $\{\alpha_n\}$  is in the interval (0, 1).

Received September 24, 2010; Accepted November 30, 2010.

<sup>2010</sup> Mathematics Subject Classifications: Primary 47H09, 47J25.

Key words and phrases: quasi- $\phi$ -nonexpansive mapping,  $\phi$ -nonexpansive mapping, normal Mann iteration, generalized projection.

Correspondence should be addressed to Young Chel Kwun, yckwun@dau.ac.kr.

<sup>\*\*\*</sup> This study was supported by research funds from Dong-A University.

If T is a nonexpansive mapping with a fixed point and the control sequence  $\{\alpha_n\}$  is chosen so that  $\sum_{n=0}^{\infty} \alpha_n (1 - \alpha_n) = \infty$ , then the sequence  $\{x_n\}$  generated by normal Mann's iterative process (1.1) converges weakly to a fixed point of T (this is also valid in a uniformly convex Banach space with the Fréchet differentiable norm [13]). It is well known that, in an infinite-dimensional Hilbert space, the normal Mann's iterative algorithm has only weak convergence, in general, even for nonexpansive mappings.

Attempts to modify the normal Mann iteration (1.1) for nonexpansive mappings by hybrid projection algorithms so that strong convergence is guaranteed have recently been made. Nakajo and Takahashi [10] proposed the following modification of the Mann iteration for a single nonexpansive mapping T in a Hilbert space. To be more precise, they proved the following theorem.

THEOREM 1.1. Let C be a closed convex subset of a Hilbert space H and let  $T : C \to C$  be a nonexpansive mapping such that  $F(T) \neq \emptyset$ . Assume that  $\{\alpha_n\}$  is a sequence in [0,1] such that  $\alpha_n \leq 1-\delta$  for some  $\delta \in (0,1]$ . Define a sequence  $\{x_n\}$  in C by the following algorithm:

(1.2) 
$$\begin{cases} x_0 \in C \quad chosen \ arbitrarily, \\ y_n = \alpha_n x_n + (1 - \alpha_n) T x_n, \\ C_n = \{ z \in C : \| y_n - z \| \le \| x_n - z \| \}, \\ Q_n = \{ z \in C : \langle x_0 - x_n, x_n - z \rangle \ge 0 \}, \\ x_{n+1} = P_{C_n \cap Q_n} x_0, \quad \forall n \ge 0. \end{cases}$$

Then  $\{x_n\}$  converges in norm to  $P_{F(T)}x_0$ .

In 2008, Takahashi, Takeuchi and Kubota [15] introduced so called shrinking projection methods in a Hilbert space for nonexpansive mappings. To be more precise, they obtain the following theorem.

THEOREM 1.2. Let H be a Hilbert space and let C be a nonempty closed convex subset of H. Let T be a nonexpansive mapping of C into itself such that  $F(T) \neq \emptyset$  and let  $x_0 \in H$ . For  $C_1 = C$  and  $u_1 = P_{C_1}x_0$ , define a

802

sequence  $\{u_n\}$  of C as follows:

(1.3) 
$$\begin{cases} y_n = \alpha_n u_n + (1 - \alpha_n) T u_n, \\ C_{n+1} = \{ z \in C_n : \|y_n - z\| \le \|u_n - z\| \}, \\ x_{n+1} = P_{C_{n+1}} x_0, \quad \forall n \ge 0, \end{cases}$$

where  $0 \le \alpha_n \le a < 1$  for all  $n \ge 0$ . Then  $\{u_n\}$  converges strongly to  $z_0 = P_{F(T)}x_0$ .

Recently, many authors further considered the problem of modifying normal Mann iterative process in the framework of real Banach spaces. Before proceeding further, we give some definitions and propositions in Banach spaces first.

Let E be a Banach space with dual  $E^*$ . We denote by the *normalized* duality mapping J from E to  $2^{E^*}$  defined by

$$Jx = \{ f^* \in E^* : \langle x, f^* \rangle = \|x\|^2 = \|f^*\|^2 \},\$$

where  $\langle \cdot, \cdot \rangle$  denotes the generalized duality pairing.

A Banach space E is said to be *strictly convex* if  $\left\|\frac{x+y}{2}\right\| < 1$  for all  $x, y \in E$  with  $\|x\| = \|y\| = 1$  and  $x \neq y$ . It is said to be uniformly convex if  $\lim_{n\to\infty} \|x_n - y_n\| = 0$  for any two sequences  $\{x_n\}$  and  $\{y_n\}$  in E such that  $\|x_n\| = \|y_n\| = 1$  and  $\lim_{n\to\infty} \left\|\frac{x_n+y_n}{2}\right\| = 1$ . Let  $U = \{x \in E : \|x\| = 1\}$  be the unit sphere of E. Then the Banach space E is said to be *smooth* provided  $\lim_{t\to0} \frac{\|x+ty\|-\|x\|}{t}$  exists for each  $x, y \in U$ . It is also said to be *uniformly smooth* if the limit is attained uniformly for  $x, y \in E$ . It is well known that if E is uniformly smooth, then J is uniformly norm-to-norm continuous on each bounded subset of E. It is also well known that if E is uniformly if  $E^*$  is uniformly convex.

Recall that a Banach space E has the Kadec-Klee property if for any sequence  $\{x_n\} \subset E$  and  $x \in E$  with  $x_n \rightharpoonup x$  and  $||x_n|| \rightarrow ||x||$ , then  $||x_n - x|| \rightarrow 0$  as  $n \rightarrow \infty$ . For more details on Kadec-Klee property, the readers is referred to [7] and the references therein. It is well known that if E is a uniformly convex Banach spaces, then E enjoys the Kadec-Klee property. As we all know that if C is a nonempty closed convex subset of a Hilbert space H and  $P_C : H \to C$  is the metric projection of H onto C, then  $P_C$  is nonexpansive. This fact actually characterizes Hilbert spaces and consequently, it is not available in more general Banach spaces. In this connection, Alber [1] recently introduced a generalized projection operator  $\Pi_C$  in a Banach space E which is an analogue of the metric projection in Hilbert spaces.

Next, we assume that E is a smooth Banach space. Consider the functional defined by

(1.4) 
$$\phi(x,y) = \|x\|^2 - 2\langle x, Jy \rangle + \|y\|^2, \quad \forall x, y \in E.$$

Observe that, in a Hilbert space H, (1.4) is reduced to  $\phi(x, y) = ||x - y||^2$  for all  $x, y \in H$ . The generalized projection  $\Pi_C : E \to C$  is a map that assigns to an arbitrary point  $x \in E$  the minimum point of the functional  $\phi(x, y)$ , that is,  $\Pi_C x = \bar{x}$ , where  $\bar{x}$  is the solution to the minimization problem

(1.5) 
$$\phi(\bar{x}, x) = \inf_{y \in C} \phi(y, x)$$

existence and uniqueness of the operator  $\Pi_C$  follows from the properties of the functional  $\phi(x, y)$  and strict monotonicity of the mapping J (see, for example, [1], [2], [6] and [14]). In Hilbert spaces,  $\Pi_C = P_C$ . It is obvious from the definition of function  $\phi$  that

(1.6) 
$$(||y|| - ||x||)^2 \le \phi(y, x) \le (||y|| + ||x||)^2, \quad \forall x, y \in E.$$

REMARK 1.1. If E is a reflexive, strictly convex and smooth Banach space, then for  $x, y \in E$ ,  $\phi(x, y) = 0$  if and only if x = y. It is sufficient to show that if  $\phi(x, y) = 0$  then x = y. From (1.6), we have ||x|| = ||y||. This implies  $\langle x, Jy \rangle = ||x||^2 = ||Jy||^2$ . From the definition of J, one has Jx = Jy. Therefore, we have x = y, see [6] and [14] for more details.

Let C be a nonempty closed convex subset of E and let T be a mapping from C into itself. A point p in C is said to be an *asymptotic fixed point* of T [13] if C contains a sequence  $\{x_n\}$  which converges weakly to p such that

804

 $\lim_{n\to\infty} ||x_n - Tx_n|| = 0$ . The set of asymptotic fixed points of T will be denoted by  $\widetilde{F}(T)$ . A mapping T from C into itself is said to be *relatively nonexpansive* [3]-[5] if  $\widetilde{F}(T) = F(T) \neq \emptyset$  and  $\phi(p, Tx) \leq \phi(p, x)$  for all  $x \in C$  and  $p \in F(T)$ . The asymptotic behavior of a relatively nonexpansive mappings was studied in [3]-[5].

The mapping T is said to be  $\phi$ -nonexpansive if  $\phi(Tx, Ty) \leq \phi(x, y)$  for all  $x, y \in C$ . T is said to be quasi- $\phi$ -nonexpansive if  $F(T) \neq \emptyset$  and  $\phi(p, Tx) \leq \phi(p, x)$  for all  $x \in C$  and  $p \in F(T)$  (see [11], [12], [16] and [17]).

REMARK 1.2. The class of quasi- $\phi$ -nonexpansive mappings is more general than the class of relatively nonexpansive mappings which requires the strong restriction:  $F(T) = \tilde{F}(T)$ .

Recently, Matsushita and Takahashi [9] improved Theorem 1.1 from Hilbert spaces to Banach spaces. To be more precise, they proved the following theorem.

THEOREM 1.3. Let *E* be a uniformly convex and uniformly smooth Banach space and let *C* be a nonempty closed convex subset of *E*. Let *T* be a relatively nonexpansive mapping from *C* into itself and let  $\{\alpha_n\}$  be a sequence of real numbers such that  $0 \leq \alpha_n < 1$  and  $\limsup_{n\to\infty} \alpha_n < 1$ . Suppose that  $\{x_n\}$  is given by

(1.7) 
$$\begin{cases} x_0 = x \in C, \\ y_n = J^{-1}(\alpha_n J x_n + (1 - \alpha_n) J T x_n), \\ H_n = \{ z \in C : \phi(z, y_n) \le \phi(z, x_n) \}, \\ W_n = \{ z \in C : \langle x_n - z, J x - J x_n \rangle \ge 0 \}, \\ x_{n+1} = P_{H_n \cap W_n} x_0, \quad \forall n \ge 0, \end{cases}$$

where J is the duality mapping on E. If F(T) is nonempty, then  $\{x_n\}$  converges strongly to  $P_{F(T)}x$ , where  $P_{F(T)}$  is the generalized projection from C onto F(T).

In this paper, motivated by Theorems  $1.1 \sim 1.3$ , we re-consider the problem of modifying normal Mann iteration to obtain strong convergence based on shrinking projection methods. Strong convergence theorems are established in the framework of real Banach spaces. The results presented in this paper improves the corresponding results in Matsushita and Takahashi [9], Nakajo and Takahashi [10] and Takahashi, Takeuchi and Kubota [15].

We need the following lemmas for the proof of our main results.

LEMMA 1.1. ([1]) Let C be a nonempty closed convex subset of a smooth Banach space E and  $x \in E$ . Then,  $x_0 = \prod_C x$  if and only if

$$\langle x_0 - y, Jx - Jx_0 \rangle \ge 0, \quad \forall y \in C.$$

LEMMA 1.2. ([1]) Let E be a reflexive, strictly convex and smooth Banach space, let C be a nonempty closed convex subset of E and  $x \in E$ . Then

$$\phi(y, \Pi_C x) + \phi(\Pi_C x, x) \le \phi(y, x), \quad \forall y \in C.$$

The following lemma can be deduced from Zhou and Gao [16].

LEMMA 1.3. Let E be a reflexive, strictly convex and smooth Banach space and let C be a nonempty closed convex subset of E. Let  $T : C \to C$ be a quasi- $\phi$ -nonexpansive mapping. Then F(T) is a closed convex subset of C.

## 2. Main results

Now, we are ready to give our main results.

THEOREM 2.1. Let E be a uniformly smooth and strictly convex Banach space which enjoys the Kadec-Klee property and let C be a nonempty closed convex subset of E. Let  $T : C \to C$  be a closed quasi- $\phi$ -nonexpansive mapping. Let  $\{x_n\}$  be a sequence generated in the following manner:

(2.1) 
$$\begin{cases} x_0 \in E \quad chosen \ arbitrarily, \\ C_1 = C, \\ x_1 = \prod_{C_1} x_0, \\ y_n = J^{-1}(\alpha_n J x_n + (1 - \alpha_n) J T x_n), \\ C_{n+1} = \{z \in C_n : \phi(z, y_n) \le \phi(z, x_n)\}, \\ x_{n+1} = \prod_{C_{n+1}} x_0, \quad \forall n \ge 0. \end{cases}$$

806

If the control sequence  $\{\alpha_n\}$  satisfies the restrictions:  $0 \leq \alpha_n < 1$  and  $\limsup_{n \to \infty} \alpha_n < 1$ , then  $\{x_n\}$  converges strongly to  $\prod_{F(T)} x_0$ .

*Proof.* First, we show that  $C_n$  is closed and convex for all  $n \ge 1$ . It is obvious that  $C_1 = C$  is closed and convex. Suppose that  $C_k$  is closed and convex for some k. For  $z \in C_k$ , we see that  $\phi(z, y_k) \le \phi(z, x_k)$  is equivalent to

$$2\langle z, Jx_k - Jy_k \rangle \le ||x_k||^2 - ||y_k||^2.$$

It is to see that  $C_{k+1}$  is closed and convex. Then, for all  $n \ge 1$ ,  $C_n$  is closed and convex. This shows that  $\prod_{C_{n+1}} x_0$  is well defined. Next, we prove that  $F(T) \subset C_n$  for all  $n \ge 1$ . Indeed,  $F(T) \subset C_1 = C$  is obvious. Suppose that  $F(T) \subset C_k$  for some k. Then, for all  $w \in F(T) \subset C_k$ , we have

$$\phi(w, y_k) = \phi(w, J^{-1}(\alpha_k J x_k + (1 - \alpha_k) J T x_k))$$

$$= ||w||^2 - 2\langle w, \alpha_k J x_k + (1 - \alpha_k) J T x_k \rangle$$

$$+ ||\alpha_k J x_k + (1 - \alpha_k) J T x_k||^2$$

$$\leq ||w||^2 - 2\alpha_k \langle w, J x_k \rangle - 2(1 - \alpha_k) \langle w, J T x_k \rangle$$

$$+ \alpha_k ||x_k||^2 + (1 - \alpha_k) ||T x_k||^2$$

$$= \alpha_k \phi(w, x_k) + (1 - \alpha_k) \phi(w, T x_k)$$

$$\leq \alpha_k \phi(w, x_k) + (1 - \alpha_k) \phi(w, x_k)$$

$$= \phi(w, x_k),$$

which shows that  $w \in C_{k+1}$ . This implies that  $F(T) \subset C_n$  for all  $n \geq 1$ . From  $x_n = \prod_{C_n} x_0$ , we see that

(2.2) 
$$\langle x_n - z, Jx_0 - Jx_n \rangle \ge 0, \quad \forall z \in C_n.$$

Since  $F(T) \subset C_n$  for all  $n \ge 1$ , we have

(2.3) 
$$\langle x_n - w, Jx_0 - Jx_n \rangle \ge 0, \quad \forall w \in F(T).$$

On the other hand, it follows from Lemma 1.2 that

$$\phi(x_n, x_0) = \phi(\prod_{C_n} x_0, x_0) \le \phi(w, x_0) - \phi(w, x_n) \le \phi(w, x_0)$$

for each  $w \in F(T) \subset C_n$  and for all  $n \geq 1$ . This shows that the sequence  $\phi(x_n, x_0)$  is bounded. From (1.5), we see that the sequence  $\{x_n\}$  is also bounded. Since the space is reflexive, we may, without loss of generality, assume that  $x_n \to x$ . Note that  $C_n$  is closed and convex for each  $n \geq 1$ . It is easy to see that  $x \in \Omega$ , where  $\Omega = \bigcap_{n=0}^{\infty} C_n$ . On the other hand, we have

$$\phi(x_n, x_0) \le \phi(x_{n+1}, x_0) \le \phi(x, x_0).$$

It follows that

$$\phi(x, x_0) \le \liminf_{n \to \infty} \phi(x_n, x_0) \le \limsup_{n \to \infty} \phi(x_n, x_0) \le \phi(x, x_0)$$

This implies that

$$\lim_{n \to \infty} \phi(x_n, x_0) = \phi(x, x_0).$$

Hence, we have  $||x_n|| \to ||x||$  as  $n \to \infty$ . In view of the Kadec-Klee property of E, we obtain that  $x_n \to x$  as  $n \to \infty$ .

Next, we show that  $x \in F(T)$ . By the construction of  $C_n$ , we have that  $C_{n+1} \subset C_n$  and  $x_{n+1} = \prod_{C_{n+1}} x_0 \in C_n$ . It follows that

(2.4)  

$$\phi(x_{n+1}, x_n) = \phi(x_{n+1}, \Pi_{C_n} x_0)$$

$$\leq \phi(x_{n+1}, x_0) - \phi(\Pi_{C_n} x_0, x_0)$$

$$= \phi(x_{n+1}, x_0) - \phi(x_n, x_0).$$

Letting  $n \to \infty$  in (2.4), we obtain that  $\phi(x_{n+1}, x_n) \to 0$ . In view of  $x_{n+1} \in C_{n+1}$ , we arrive at  $\phi(x_{n+1}, y_n) \leq \phi(x_{n+1}, x_n)$ . It follows that

(2.5) 
$$\lim_{n \to \infty} \phi(x_{n+1}, y_n) = 0$$

From (1.6), we see that

(2.6) 
$$||y_n|| \to ||x|| \quad \text{as } n \to \infty.$$

It follows that

(2.7) 
$$||Jy_n|| \to ||Jx|| \quad \text{as } n \to \infty.$$

This implies that  $\{Jy_n\}$  is bounded. Note that E is reflexive and  $E^*$  is also reflexive. We may assume that  $Jy_n \rightharpoonup x^* \in E^*$ . In view of the reflexivity of E, we see that  $J(E) = E^*$ . This shows that there exists an  $\bar{x} \in E$  such that  $J\bar{x} = x^*$ . It follows that

$$\phi(x_{n+1}, y_n) = \|x_{n+1}\|^2 - 2\langle x_{n+1}, Jy_n \rangle + \|y_n\|^2$$
$$= \|x_{n+1}\|^2 - 2\langle x_{n+1}, Jy_n \rangle + \|Jy_n\|^2.$$

Taking  $\liminf_{n\to\infty}$  the both sides of equality above yields that

$$0 \ge \|x\|^2 - 2\langle x, x^* \rangle + \|x^*\|^2 = \|x\|^2 - 2\langle x, J\bar{x} \rangle + \|J\bar{x}\|^2$$
$$= \|x\|^2 - 2\langle x, J\bar{x} \rangle + \|\bar{x}\|^2 = \phi(x, \bar{x}).$$

That is,  $x = \bar{x}$ , which in turn implies that  $x^* = Jx$ . It follows that  $Jy_n \rightarrow Jx \in E^*$ . Since (2.7) and  $E^*$  enjoys the Kadec-Klee property, we obtain that

$$Jy_n - Jx \to 0$$
 as  $n \to \infty$ .

Note that  $J^{-1}: E^* \to E$  is demi-continuous. It follows that  $y_n \rightharpoonup x$ . Since (2.6) and E enjoys the Kadec-Klee property, we obtain that

$$y_n \to x \quad \text{as } n \to \infty$$

Note that

$$|x_n - y_n|| \le ||x_n - x|| + ||x - y_n||.$$

It follows that

(2.8) 
$$\lim_{n \to \infty} \|x_n - y_n\| = 0.$$

Since J is uniformly norm-to-norm continuous on any bounded sets, we have

(2.9) 
$$\lim_{n \to \infty} \|Jx_n - Jy_n\| = 0.$$

On the other hand, from the definition of  $y_n$ , we have

$$||Jy_n - Jx_n|| = (1 - \alpha_n) ||JTx_n - Jx_n||.$$

By the assumption on  $\{\alpha_n\}$  and (2.9), we see that

(2.10) 
$$\lim_{n \to \infty} \|Jx_n - JTx_n\| = 0.$$

On the other hand, noting that  $J: E \to E^*$  is demi-continuous, we have  $Jx_n \rightharpoonup Jx \in E^*$ . In view of

$$|||Jx_n|| - ||Jx||| = |||x_n|| - ||x||| \le ||x_n - x|| \to 0 \text{ as } n \to \infty,$$

we arrive at  $||Jx_n|| \to ||Jx||$  as  $n \to \infty$ . By virtue of the Kadec-Klee property of  $E^*$ , we obtain that  $||Jx_n - Jx|| \to 0$  as  $n \to \infty$ . In view of (2.10), we arrive at  $||JTx_n - Jx|| \to 0$  as  $n \to \infty$ . Since  $J^{-1} : E^* \to E$  is demi-continuous, we have  $Tx_n \to x$ . Note that

$$|||Tx_n|| - ||x||| = |||JTx_n|| - ||Jx||| \le ||JTx_n - Jx|| \to 0 \text{ as } n \to \infty.$$

This implies that  $||Tx_n|| \to ||x||$  as  $n \to \infty$ . From the Kadec-Klee property of E, we obtain that  $||Tx_n - x|| \to 0$  as  $n \to \infty$ . It follows from the closedness of T that Tx = x.

Finally, we show that  $x = \prod_{F(T)} x_0$ . From  $x_n = \prod_{C_n} x_0$ , we have

(2.11) 
$$\langle x_n - w, Jx_0 - Jx_n \rangle \ge 0, \quad \forall w \in F(T) \subset C_n.$$

Taking the limit as  $n \to \infty$  in (2.11), we obtain that

$$\langle x - w, Jx_0 - Jx \rangle \ge 0, \quad \forall w \in F(T),$$

and hence  $x = \prod_{F(T)} x_0$  by Lemma 1.1. This completes the proof.

REMARK 2.1. Theorem 2.1 is a Banach version of Theorem 1.2.

REMARK 2.2. Theorem 2.1 improves the Theorem 1.3 in the following senses.

(1) From the computation point of view, the algorithm is more simple than the one considered in Theorem 1.3, that is, we remove the set " $W_n$ ".

(2) We extend the mapping from relatively nonexpansive mappings to quasi- $\phi$ -nonexpansive mappings, that is, we remove the restriction  $F(T) = \widetilde{F}(T)$ .

(3) We extend the space from uniformly smooth and uniformly convex Banach spaces to uniformly smooth and strictly convex Banach spaces which enjoy the Kadec-Klee property (note that every uniformly convex Banach spaces enjoy the Kadec-Klee property).

In the real Hilbert spaces, Theorem 2.1 is reduced to the following result.

COROLLARY 2.2. Let C be a nonempty closed convex subset of a real Hilbert space H and let  $T : C \to C$  be a closed quasi-nonexpansive mapping. Let  $\{x_n\}$  be a sequence generated in the following manner:

$$\begin{cases} x_0 \in H & chosen \ arbitrarily, \\ C_1 = C, \\ x_1 = P_{C_1} x_0, \\ y_n = \alpha_n x_n + (1 - \alpha_n) T x_n, \\ C_{n+1} = \{ z \in C_n : \| z - y_n \| \le \| z - x_n \| \}, \\ x_{n+1} = P_{C_{n+1}} x_0, \quad \forall n \ge 0. \end{cases}$$

If the control sequence  $\{\alpha_n\}$  satisfies the restrictions:  $0 \leq \alpha_n < 1$  and  $\limsup_{n\to\infty} \alpha_n < 1$ , then  $\{x_n\}$  converges strongly to  $\prod_{F(T)} x_0$ .

REMARK 2.3. Theorem 2.1 improves the Theorem 1.1 in the following senses.

(1) From the computation point of view, the algorithm is more simple than the one considered in Theorem 1.1, that is, we remove the set " $Q_n$ ".

(2) We extend the mapping from nonexpansive mappings to quasi-nonexpansive mappings.

## References

- Ya. I. Alber, Metric and generalized projection operators in Banach spaces: properties and applications, in: A. G. Kartsatos (Ed.), Theory and Applications of Nonlinear Operators of Accretive and Monotone Type, Marcel Dekker, New York, 1996, pp. 15–50.
- [2] Ya.I. Alber and S. Reich, An iterative method for solving a class of nonlinear operatorequations in Banach spaces, Panamer. Math. J. 4 (1994), 39–54.
- [3] D. Butnariu, S. Reich and A. J. Zaslavski, Asymptotic behavior of relatively nonexpansive operators in Banach spaces, J. Appl. Anal. 7 (2001), 151–174.
- [4] D. Butnariu, S. Reich and A. J. Zaslavski, Weak convergence of orbits of nonlinear operators in reflexive Banach spaces, Numer. Funct. Anal. Optim. 24 (2003), 489–508.

- [5] Y. Censor and S. Reich, Iterations of paracontractions and firmly nonexpansive operatorswith applications to feasibility and optimization, Optimization 37 (1996), 323–339.
- [6] I. Cioranescu, Geometry of Banach Spaces, Duality Mappings and Nonlinear Problems, Kluwer, Dordrecht, 1990.
- [7] H. Hudzik, W. Kowalewski and G. Lewicki, Approximative compactness and full rotundity in Musielak-Orlicz spaces and Lorentz-Orlicz spaces, Z. Anal. Anwend. 25 (2006), 163–192.
- [8] W. R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 4 (1953), 506-510.
- [9] S. Y. Matsushita and W. Takahashi, A strong convergence theorem for relatively nonexpansive mappings in a Banach space, J. Approx. Theory 134 (2005), 257–266.
- [10] K. Nakajo and W. Takahashi, Strong convergence theorems for nonexpansive mappings and nonexpansive semigroups, J. Math. Anal. Appl. 279 (2003), 372–379.
- [11] X. Qin, Y. J. Cho and S. M. Kang, Convergence theorems of common elements for equilibrium problems and fixed point problems in Banach spaces, J. Comput. Appl. Math. 225 (2009), 20–30.
- [12] X. Qin, Y. J. Cho, S. M. Kang and H. Zhou, Convergence of a modified Halpern-type iteration algorithm for quasi-φ-nonexpansive mappings, Appl. Math. Lett. 22 (2009), 1051–1055.
- [13] S. Reich, A weak convergence theorem for the alternating method with Bregman distance, in: A. G. Kartsatos (Ed.), Theory and Applications of Nonlinear Operators of Accretive and Monotone Type, Marcel Dekker, New York, 1996, pp. 313–318.
- [14] W. Takahashi, Nonlinear Functional Analysis, Yokohama Publishers, 2000.
- [15] W. Takahashi, Y. Takeuchi and R. Kubota, Strong convergence theorems by hybrid methods for families of nonexpansive mappings in Hilbert spaces, J. Math. Anal. Appl. 341 (2008), 276–286.
- [16] H. Zhou and X. Gao, An iterative method of fixed points for closed and quasi-strict pseudo-contractions in Banach spaces, J. Appl. Math. Comput. 33 (2010), 227–237.
- [17] H. Zhou, G. Gao and B. Tan, Convergence theorems of a modified hybrid algorithm for a family of quasi-φ-asymptotically nonexpansive mappings, J. Appl. Math. Comput. **32** (2010), 453–464.

\*

DEPARTMENT OF MATHEMATICS AND RINS Gyeongsang National University Jinju 660-701, Republic of Korea

E-mail: smkang@gnu.ac.kr

\*\*

DEPARTMENT OF MATHEMATICS PUSAN UNIVERSITY OF FOREIGN STUDIES BUSAN 608-738, REPUBLIC OF KOREA

*E-mail*: rhee@pufs.ac.kr

\*\*\*

DEPARTMENT OF MATHEMATICS DONG-A UNIVERSITY PUSAN 614-714, REPUBLIC OF KOREA *E-mail*: yckwun@dau.ac.kr